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Then because of random collisions, these atoms and molecules began to accrete and eventually grew into meteors, asteroids, planetesimals, and planets.





Because of the Sun’s intense heat,





Then most of the lighter elements such as Hydrogen and Helium were blown further out into our Solar System.





Because the majority of the heavier elements were closer to the Sun,





Then the 4 inner planets became terrestrial (rocky) in composition





Because the majority of the lighter elements were further from the Sun,





Then the 4 outer planets became gassy in composition.
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